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Q1. Choose the correct answer from the given option:- 
1. The plants will grow _____________ 

(a) tall        (b)  short             (c)  broad         Ans : (a)  
 

2. The sun will _____________ 
(a) dance        (b)   cry          (c)  shine            Ans : (c) 

 
3. The rain will  ______________ 

(a) jump         (b)  fall          (c)  swing           Ans : (b) 
 

4. The child will plant the garden _______________ 
(a) with care       (b) with sorrow          (c) with anger         Ans : (a) 

 
5. Add the word to make a new word:- 

 + Flower = ______________ 
(a) Sunglass        (b) sunflower         (c) sunrise             Ans : (b) 

 

6. Basket   +      =  _____________ 
(a) ballbasket        (b) basketplay         (c) basketball          Ans : (c) 

 
7. Granny had many __________ in her garden.  

(a)  Plants             (b) Chairs           (c) Rooms                  Ans : (a) 
 

8. Granny woke up one morning and saw may ____________ in her garden. 
(a) Potatoes          (b)  Chillies          (c) Tomatoes           Ans : (c) 

 
9. Tomatoes are ______________ 

(a) Sweet and bitter     (b) fresh and juicy     (c) Sour and salty   Ans : (b) 
 

10. Tim the tailor asked from granny for ________ tomatoes. 
(a) Four                  (b) Five      (c) Two                   Ans : (a) 

 

 



11. After giving all the tomatoes Granny felt_____________. 
(a) Happy             (b) Angry                   (c)  Sad                   Ans : (c) 

 
12. All her friends had made ____________ for granny. 

(a) Tomato puree      (b)  Chilli sauce         (c) tomato soup    Ans : (c) 
 

13. Who said “I cannot make tomato soup”? 
(a) Granny                  (b)  Postman            (c) Farmer            Ans : (a) 

 
14.Meaning of peep _______________. 
 (a) look sadly                       (b) look quickly          (c) looks happy    Ans : (b) 
 
15.Walking through water is ________________. 
 (a) splashing                     (b) dancing                  (c) wading       Ans : (c) 
 
16.Complete the line of the poem.  
One! Two! Three outside the school, three small ducks_____________.  
(a) splash in the pool       (b) splash in the forest    (c) splash in the market 
 Ans : (a) 
 
17.Duck’s baby is called ______________.  
      (a) Kid                     (b) duckling                       (c) lamb       Ans : (b) 
 
18.Male ducks are called___________.  
     (a) Drakes                (b) colt                              (c) cub       Ans : (a) 
 
 19. Sound of duck is _________.  
    (a) Chirp                  (b) quack                              (c) oink       Ans : (b) 
 
20.In the poem how many ducks are swimming in the pool? 
   (a) five                     (b) one                                  (c) three         Ans : (c) 
 
21.Write the rhyming word of splash. 
  (a) brush                 (b) flash                                 (c) crash       Ans : (b) 
 
22.What will help the seeds grow? 
(a) Sun and rain      (b) rubber and pencil           (c) moon and stars    Ans : (a) 
 
23. Give one word for putting seed inside the soil_____  
 (a) Growing seeds         (b) planting seeds              (c) drying seeds    Ans : (b) 
 



 
24. Give one word for “Moving slowly from side to side”. 

(a) Pulling            (b) Cutting            (c) Swaying          Ans : (c) 
 

25. Coconut tree does not have any ____________. 
(a) branches            (b) fruits                     (c) leaves             Ans : (a) 

 
26. Another word for breeze is ____________.  

(a) Storm            (b) a gentle wind               (c) none of the above Ans : (b) 
 

27. Satish is cutting the green _____________.  
(a) Guava           (b) Mango                   (c) Coconuts         Ans : (c) 

 
28. Satish uses an axe to cut the coconuts _____________ 

(a) False           (b)  True                      (c) Both  a & b      Ans : (a) 
 

29. Make a new word by adding   play + ground = ________ 
(a) playground               (b) classroom        (c) football           Ans : (a) 

 
30. Satish has reached the top of the _______________ 

(a) House     (b) Coconut tree  (c) Mountain       Ans : (b) 
 

31. ________pays Satish for his work. 
(a) Father   (b) Mother   (c) Owner          Ans : (c) 

 
32. The _________ was swaying in the breeze. 

(a) Banyan tree  (b) Mango tree      (c) Coconut tree Ans : (c) 
 

33. Satish __________ the top of the coconut tree.  
(a) reached   (b) reach  (c) counted at    Ans : (a) 

 
34. The owner is ___________ the coconuts. 

(a) counting    (b) eating  (c) throwing Ans : (a)   

35. Mother brought me a  ___________ of new shoes. 

      (a) Pear   (b) pair   (c) fair           Ans : (b) 

 

 
 


